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o— 7 s | B (k) S48 (F) . diE | el | FE M (BT
Y3002 | =H (M) 5 4,115 1,404 216 216 | BN Skg
Y3011 HAM (&) 62 41, 504 972 756 216 | B 62kg
Y3100 &5 BAM (F) 1,048 432 432 184 | B 3kg
39630 FrmAA Y 907 65 65 65| &M 1438
31950 HAE . 1,620 162 162 162 | B 1036
31900 X 4, 644 162 162 140 | BW 3048
34330 E7pd 20 2, 403 32 18 11 5H 1004
34100 #A/I 313 27 27 11| BH 147
34140 | PUIEHK o 259 22 22 22| B 128 |
34500 B—w 10 3, 056 356 356 216 | BWN 10kg
Y3033  ZEHNAL 166 18, 693 194 108 54 | B 166kg
Y3044 HLE () 15 810 54 54 54| BH 15kg
34910 4K 6 97 32 32 32| B 31H
34930 LA > 41 2,795 54 22 2 BN 1367
34980 ~bE 6 815 49 49 27| BN 1974
35040 | AETETE/E 171 82, 296 540 486 356 | & 171kg
34800 B< 5 30 8,732 32 32 22| BN 296 v b
36320 B E D 48 12, 204 270 270 162 | 5N . 48kg
36340 LSRR 58 24, 581 486 486 108 | &P ~ 58kg
34600 LLESMWHL 1 23 32 32 32 BN lkg
37600 Ak 5 A 9 5,940 756 756 486 | PN kg
48000 U A A5 A432 0 0 0 BM ALE
49470 Ry ia LT A—Y 55 46, 710 162 108 32 BN 5458
71011 A FL—%j 147, 744 76 76 32BN 2, 1404
53101 1T LK 2,797 594 594 324 | BN bkg
53112 2"ARE 5 (FEL) 32 32 32 32 &M 1E
30100 72V T A 54 5, 184 86 86 86 | dtimH 604
30300 AZ 100 10,908  1,404| 1,080 972 | E & 1047 — 2
30300 A% 50 9,180 1,836 1, 836 1,836 | dcyiE 5 —2A
30400 ZUE 5 18 5, 184 86 86 86 | IR 604
31100 [3E 45 3,672 1,296 1,296 1,080 E#F 34—
31200 (L33 4 648 32 32 32| &R 204%
33810 HHEE 10 540 11 11 11 fEA 5048
| 33810 FHEX 4 2,700 2,700 2,700 2,700 FE)Z 17— 2
37440 A b 4 1,793 896 896 896 B R 24— 2
Y5005 4 AKZEA T s 1,566| 1,566 1,566  1,566| K4Y 17r—= |
31700 ¥ L 70 13,500| 2,052 1,836 1,836 BEE T —2
31800 %9 MAE 10 8, 100 162 162 162 | HEA 5088 |
31950 HAX 18] 3,888 648 648 648 | FEJE 6r—A
31930 ZhE 3 6,804  6,804| 6,804 6,804 fE 1r—2
32800 (2 5 5 4,320 86 86 86 | I 5058




% Kok Fi e Ml HH
a— R g Hik | B (kg) %8 (1) = g Sl FE (B47)
34300 |72 2L 25 12, 960 2,700| 2,700 2,160 | BEA 54 — A
34308 EAT x 9 729 o 27 22 | BIRE 304
34400 k= R - 68 21,157| 1,296 1,199 1,199 BEA 174 — %
34400 | k< b 24 7,776 1,296 1,296 1,296 K%y 64— A
34400 bh= b M 12 5, 184 1,728 1,728 1, 728 HEA 34—
34460 I =LtE L M 3 2, 246 140 140 140 | BEA 1673y 7
34460 I =& E & M 10 9,850 205 205 205 IR 48,8
34460 I =L F L& S 1 594 119 119 119 | & I 58y
34100 HIK oL 5 1,188 1,188 1,18 1,188 HI 14— %
34100 /I L 15 7,128 2,376 2,376 2,376 | = IF 34—
34100 ERJIK L 65 12, 096 1,080 864 864 | FEIL 5 1377 — 2
34571 ST U A () 2 1,83 184 184 184 &% 10fH
36200 SR 3L 50 11, 880 2,376 2,376 2,376 | by 57 — A
36200 ESHE 2L 50 15, 120 3, 024 3, 024 3,024 | by 57 —A
36600 7-FnX L 60 9,720 3, 240 3, 240 3,240 L 34—
33400 L& & 19 3, 424 97 59 43 | £ % 5618
33600 /&Y 1 1,188 270 270 162 | HEA 54%
38100 A LW 6 2, 398 54 43 11 &= 60,3y 7
38100 A LWzt A M 2 3, 456 173 173 173 | =g 20,8y 7
33100 T AT H R 2 1,771 130 108 108 | #4788 155
34930 LA v 10 184 5 5 5| FER 347K
34980 ~bE : 12 1,296 32 32 32 | BEIR 40K
31500 /A 20 2, 889 32 27 27 | 1& 1004
31500 /A 12 7,776 2,592 2, 592 2,592 BB 37 —=
32500  AHoE 2 972 65 65 32 | 1@ [ 205
37560 BT 1 3, 348 756 648 648 | K4y 53y
Y4008 NT AR A 2 2, 592 324 324 324 |18 8>
Y4008 | /N7 RIrD A L 25 12, 204 2, 484 2, 484 2,268 £ 54 —A
41410 L EYV 15 9, 828 9, 828 9, 828 9,828 7 AUM 14 —A
42320 Y aFA—L R 10 6, 696 6, 696 6, 696 6,696 2 1r—2 |
43140 K7L ' 10 6, 264 6, 264 6, 264 6, 264 FEA 17—
45230 EMERY ) 6 7, 560 400 378 378 | KA 20,8 7
45220 7T U =T 4 7,344 3,672 3,672 3,672 |{& 272
44000 B b 5 2,160 2,160 2,160 2,160 | RE 17— =
44000 H % 6 6, 480 324 324 324 | KB 2078y 7
44304 HEAHk 2 1,134 162 162 162 | KB Ty
49100 NFF 36 11, 664 3, 888 3, 888 3,888 74 U 34—
49300 F U 4 T — 5 3,132 3,132 3,132 3,132 =2 —Y— 14 —2
, } IR
7 BE 1,736 716,917



